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Question Number : 1 Question Id : 719650481 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

It f(-T):-T——l“. x# 0, then 3f(x)=
i #

f(x)= x—%, x# 0, ®oud, BN 3 f(x)=

X

Options :

3[f] - £

i =
[F®] -7
2_ e
F-[f@T
3. ¢
5= Fi
4 ®

Question Number : 2 Question Id : 719650482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let [-] denote greatest integer function. If f (.1')=[.1'] and g(n*)zS[%} then the set of

all real x such that f(x)=g(x) is

'JJ‘.--*

[+] ¢16% Qrores HAE) MPIed @DSG. f(x)=[x], g 1-):3("]
wowd, f(x)=g(x)wchglln Gol @) RS ¥ © DS

Options :

]
E"
-
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{xeR/x=3k,k eZ]

7 #

{xeR/3k-1<x<3kkeZ]
3. =8

{xeR/3k <x <3k+l,keZ}
4.9

Question Number : 3 Question Id : 719650483 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If S, 1s the sum of the first » terms of the series

5

1242 x224+324+2 x4+ 5242 X 62+ .... oo_ then. when »n is even S, =

Options :
n(n+1)
2
| %
n*(n+1)
9
) & -
H(H+l)2
2
3.¢

Question Number : 4 Question Id : 719650484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Let A=| 2 -1 4| and B:[bu:lh3 withb,, =2, b;;=-2, b,;, =0 1s such that

-3 7 -6
(2 14 4]
AB=| 4 1 -8/, then |B|+trace(B)=
-6 15 12
(1 4 2] (2 14 4]
A< 2 =1 4|, Bb, leub=E =2 b, -l A8 4 1 -3
-3 7 -6 6 15 12

90DFEN0CT @5 ]B|+n‘ace(B):

Options :

2
. ¢

10
7 &

—8
3. %

6
4 8

Question Number : 5 Question Id : 719650485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A is a m X n matrix of rank 4. If A contains an 7™ order non singular sub matrix and

ATA is a 7 x 7 matrix. then the number of rows of A is

S dmr o mXn SrRE A. a8 m &S DO PRI G SIPBED A OO @k,
ATA 7 X 7 S35 00nd, 9 A &' Hofov Doidg

Options :

5
1. ®
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2B

3.8 !
4
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Question Number : 6 Question Id : 719650486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If C and D are two n X n non-singular matrices over the set of real numbers K such that

CD = — DC. then n 1s

PR vogrg v R & CD=-—DC @di)gé&%n C.D e Got n X n &6(1e® Frordes
PSS, VOB N
Options :

a natural number of the form 34 +5. k[

kFelN 3 3k+586rH0S Gots e ::JGED?S

an odd mteger

s 23 @“?050

Ty
an even integer
a8 00 :J_)"g"ogc
3, #
equal to one
ASALRON VAW
4. %

Question Number : 7 Question Id : 719650487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If zy=x,+1y,. Z,=X,+1¥,. Z;=X+—. Z, =2y, + 1y, are complex numbers such

that |Zl‘ =1,

23]=Zand Re (Z, z, ) =0. then

L=+, =X+, =X+ = Zy=2Wn+1Yy wlzl‘=l Z,|=2 60k
Re (Z; z, ) = 0 eaclogdanssy Dosd Scagen o,

Options :

apl=1, |5, | =2 Toi(ir 5, ) =0

. %
1z|=2, |z4|=1, Re(z;2;)=0
2. %
2;|=L, [z|=2, Re(z;2,)=0
3. &
7(=2, |z,|=L Relz, 2, )=Tm(zz, ) =0
4 ®

Question Number : 8 Question Id : 719650488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

collegedunia:s

India’s largest Student Review Platform



Assertion (A): If z 1s a complex number such that ‘Z‘ >3, then the least value of

it 1s 1.

I~ |'1.u

Reason (R): |z,-z,| < ‘zl‘ + |2;2|. for any two complex numbers z, . z,

DBYBBIS (A): |2] 23, eChgn z 28 K088 Dotdg OND, |z+2| § KD Dens 1
& Vi e
6850 (R): 0 o> De8G Do 7, Z, 05, |7,-2,| < |z| + |z,

The correct option among the following 1s

&t S0l DAYFOS” HOGVIR
Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)
(A) Dhgadw, (R) 038w 005w (A) § (R) DO De5¢€3

1 ®
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) DBgdw, (R) Dehgedn o (A) $§ (R) 00G1S D588 5°¢0
2. %
(A) 1s true but (R) 1s false
(A) Dgadw, 20 (R) 90gasn
1 ®
(A) 1s false but (R) 1s true
(A) 0850, 5°Q (R) 0Bgadn
4.

Question Number : 9 Question Id : 719650489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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i A 2020 T 2021
cose+151118] +( | +cosB+isin6

| =x + iy, then the value of x + y at

o L
1—cos O+1sin6 )

s +1cos 6

@
I
| A

=X + iy 0B, 6 =— I x +y deds

o | =

l1-cos 6+1sin 6

” e 3 2020 XX B 2021
{cosﬁ+1sm8] . l1+cos O+1s1n 6
sin 6 +1cos 6

Options :
2
1. ¢
|
2. %
-
3 R
2020
4 ®

Question Number : 10 Question Id : 719650490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

10
If @ 1s a complex cube root of umity, then Z((m’r +2 )(m:x-t- 2)—3) —
=]

10
TV D08S oS Sarve @ wond, Y ((ex+2)(e’x+2)-3)=
-=l

Options :
285
1. ¢
945
2. %
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®

705

4 %

Question Number : 11 Question Id : 719650491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

29

If « and £ are the real roots of the equation = I—O and o > f.

then \Ja®-11'5> =

Options :

64
| ®

36
7

100
3 %

6
4. &

Question Number : 12 Question Id : 719650492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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v 9:3+6-3"+4
The minimum value of —— ——i18
9.3 _6.3" +4

9-3*+6-3" +4

= & %935 Des
9.3 -6-3"+4 =
Options :
=]
1. %
1
2
2.8
|
4
3. %
1
3
4.

Question Number : 13 Question Id : 719650493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

p 1s a non-zero real number. If the equation whose roots are the squares of the roots of

the equation x° — p x* + px—1 = 0 is identical with the given equation. then p =

P w8 EPSgHS PS8 Doy X —p x°+ pr—1 = 0 DDEGERRS K0 SrerO STOR
SSUPLPOLOTP DN DEGEI0 Q€D DAESEISNS o]y 0e50P 500008, W)\ p =

Options :

L]
2
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9

!x.?l
¥

E_;J
(g_v

Question Number : 14 Question Id : 719650494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the roots of the equation 8x° + 6 px” + 3gx—27=0are in a geometric progression.

then ¢ +9p°+ 6 p g + =z

P

8x’+ 6px" + 3gx—27=0 JDAESEPAS Soreren (eRGeS” old, X\

G+9p°+ 6 pq+ 5
P

Options :

-3
1.+

~-10
7w

6
3w

0
4 %

Question Number : 15 Question Id : 719650495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If x and v represent the number of arrangements of the letters of word ATRAPATRAM
such that (1) all A’s are together and (11) no two A’s are together respectively. then

Xrpy=

ATRAPATRAM &3 DS 'R @Xoroed” (1) @) A en 300 Godtnr, (11) o) Doty A e
O G0tid Do DEYGIEON ©SHOZL DoWIODH SEUP X, ¥ © & ArDY, BYYD

xroy=

Options :
10!
4! 21 2!
1. ®
7! x 15
2121 41
2.
!
o X 42
2! 2!
3.¢
! } .
+6- TPy
2121 212!
4. %

Question Number : 16 Question Id : 719650496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Numbers between 1 and 10,000 are formed using the digits 2 and 3 only once and the
digit 4 twice. If the numbers thus formed are arranged in increasing order and x, v

represent the ranks of 4324 and 324 respectively then x — v =

®oSL0 2, 3 O &S w0, oS 4 Q Told P G, 1, 10000 &g (o DodgD
SN . 5 810D VoW WELTE §3006S" WSENTF , 4324 S00050 324 Howg®

SEBOSH SEIP x, ¥y 08 AP, VYYD X —y =

~

T
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Options :

17
1. ¢

31
7 8%

14
3 R

16
4, ®

Question Number : 17 Question Id : 719650497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the 9™ and 10™ terms are the numerically greatest terms in the expansion of (5x—6y )”

when x=— and y =—, then the absolute value of the middle term of that expansion

'.hIM

b | =

1S

f— 6,1")" aé}dﬂ'&@i X = ; Y=

h | K

ANADNED 9 3, 10 & Dorew JoargdySoe

P | =

(500 HEFew ©OWS, DO G| DS DB Joree

Options :
14C, 6’
1. ®
14C, 6’
2.9
15C., 6’
3B
15C, 6°
4. ®
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Question Number : 18 Question Id : 719650498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2 3

1-4/ 3} 1-4.7( 3

e | - |
16 1-2l-1r5.- 1:2.3\16)

1=

Options :

3
(1515
6 )
1. ®
B
5
2. 7
1
&
2)
(AT
15
4 %

Question Number : 19 Question Id : 719650499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

R / -
If _‘:H,, P } +C13+D thenA+B+C+D=
(-1} (x"+1) ==1 (30 <+l

2x+1 A B +Cx+D

(x-1)(x*+1)  x-1 (x-1)° wond , ey A+B+C+D=

x +1

Options :
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| w

r'\Jll—l

4. &

Question Number : 20 Question Id : 719650500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

nr

Let @ be maximum value of (3cos@—4sinf) and 8 = —. If o =a sin” 8.cos’ 8 and

(a2 + /%) )
(aB)’

B=a sin” @.cos” 6 . then

: 1T «
a ©J8 (3cosf—4sinb) § B50RQ D, 6 = % 000800, o =a sin” B.cos’ 6 FoS°

i

(gz+ﬂz)5

B =a sin’ 6.cos” 6 wond, =

(aB)’

Options :
- 8 5 O
5 sin — cos® —
2 2
1. ®
—3sm 6
x =
5
3.9
16
4 B

Question Number : 21 Question Id : 719650501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

If A does not belong to the first quadrant. B does not belong to the second quadrant,

s A= % andcos B = _—z then A—B and A+B lierespectively in the quadrants

-

A 2068 oS Do, B Tl rtrds Rodtdd. sin A = % beblelonbb)
cosB = — ©@owd, A—B, A+B e o Joren S6m
Options :
|
. ®
23
2. %
3,4
3. %
4,1
4V

Question Number : 22 Question Id : 719650502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3

.IT " " " 'III :T |
—X ]cos 2x+SIN x SIN2Y SeCX= cos xsin2xsec .T—E—C{]SL 1— +x Jcos 2x . then

4

If cos [

a possible value of sec x 1s

(# ) . - _ : -
COS (I—x COS2x+sSIn x SIMZ2Y SeC XY= Ccos ysin 2xsec x+cn5l I +x ]cns 2%
&

OB , sec X & P 2 DS

Options :
|
22
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2. %
1
2
3. %
N
4.

Question Number : 23 Question Id : 719650503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The general solution of the equation (\ﬁ - l)sin 6 + (ﬁ + l) cos @ =218

(V3-1)sin 6 + (/3 +1)cos 6 =2 DEEETIS F o TS

Options :
T T
2nw+—+—
4 12
1. ¢
-
nr+(-1) —+—
4 12
2. %
x x
N A
4 12
3%
T T
7 S o
4 12
4 %
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Question Number : 24 Question Id : 719650504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

¥ 12 ) il D ] &’
If Sin 1[— | + Sin i[— } — — _then x=
T 5 ] \ A 2
5 codidd . 5Y & -
Sm'li —] - Sm'l{ | = — , 00, 20N R
\ X l x ) 2
Options :
5
| ®

7 R

13
3.

17
4. %

Question Number : 25 Question Id : 719650505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Log(Q +3J2 (2+\/§)+4J§) -

Options :

g A |
Sinh '3 + Cosh™ {:}
1. % g
Cosh™ 3+ Sinh™ 3
2.«
Tanh™ 3 + Sinh ! 3
3%
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Cosh™ 3+ Tanh™3

Question Number : 26 Question Id : 719650506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Ina AABC, (b°— ¢*) cotA + (¢’— a”)cotB=

w8 zv2d0 ABC &° (b° - ¢*) cot A + (- a’)cotB=

Options :

a0
2R?[sin 2A — sin 2B]
2
(b* —a*) cot (A + B)
3
2R’ [tan 2A — tan 2B]
4 8

Question Number : 27 Question Id : 719650507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

InaA ABC, ——

CFeEEe B B W 7

2 Qzvao ABC °,

[
ad
g

a +b "+ c

Options :

0
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2.

3
3 %

S
4 %

Question Number : 28 Question Id : 719650508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

15 Rg ix=9012 3 080 758 ==

Rk =312

2

SO, r+rn+n—n =

Options :

COSA
1. v
SIA
3 =
2”’i
3 &
»
2r°r
4 R

Question Number : 29 Question Id : 719650509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If 12i —127 -18%k ., —3i —6j —9k and 3i +3j —24k be the position vectors of the
vertices A, B and C respectively of AABC, then the position vector of the incentre of

AABC 1s

127 —127 -18k, -3 =6/ -9k , 37 +37 —24k e0 H6H AABC 3g°en A, B, C e
P HBFonS, AABC @od6 Somrdd ¥ Hod

Options :

1. ®
= e Sl
L
7w
o §eu -
—i—=j-17k
3 3
3w
4i -5 -17k
4.

Question Number : 30 Question Id : 719650510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~
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Let IIbe a plane containing the pomts (0, —5, —1), (1, =2, 5) ., (—3.5,0)and L be a
line passing through the point (0. —5, —1) and parallel to the vector 7 +57 —6fk .

Then the length of the projection of the unit normal vector to the plane II on the line

Lis

(0, =5, —1), (1, =2, 5), (-3, 5, 0) RotVHLID EOH Gol So II o (0, —5, —1)
2Jol0ad) 0ot® PP 7 +57 —6k DOFE DSTeotdSarP Gols o L eoned, L S 2, deo
[T S crAe ©&wozy DBE 8o Fad)

Options :
13342
31
L.
14
682
3 of
133
31
3%
268
2432
4, %

Question Number : 31 Question Id : 719650511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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For non-coplanar vectors . b and c. if the point of intersection of the line
r=a+t(b—c) and the plane ;=5+;+x(5—5)—;y(;+5) is la +mb+nc . then

3/ +4m+2n=

oIODH DOFN a, bABAIL ¢ ©%H B r=a+tb—c) OGN Seo

r=b+;+x(5—3)+_1-’((_"—;5) QO ol  2Wolddad) la +mb+nc ©OND, B Yo
3/ +4m+2n=

Options :
0
| ®
1
2
7 %
Z
3¢
1
4. 8

Question Number : 32 Question Id : 719650512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the orthocentre of the triangle whose vertices are 2i+3j+5k, 5i+2j+3k and
3i+5j+2k is xi+yj+zk then

2i+3j+5k, 5i+2j+3k 30000 3i+5j+2k @0 0P B0 b Lo Soo

xi+vj+zk wond, W)

Options :

-
|l
™
-
I
L
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7w

N—Yy——25
3. =

'\ :'1"::
4 &

Question Number : 33 Question Id : 719650513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the vectors AB=pi+qj+ rk, AC=si+3j+ 4k, CB=3i+j - 2k from

AABC., then the values of p. ¢. r and s such that the area of that AABC 1s 54/6 are

AB=pi+qj+ rk, AC=si+3j+ 4k, CB=3i+j— 2k %&%» AABC &

D06\83, & AABC Jerogo 546 WO P, ¢. 7,5 VD DD

Options :

1. ®

P =84 —=XKY =238 =73
2.

p=-3q=4r =25 =-8
3. %

p=1l4g=4r =28 =11
4 B

Question Number : 34 Question Id : 719650514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Let E b. and ¢ be three unit vectors such that g x (5 % ;)=L (3 4 c_*) and b is not
g,

parallel to ¢.If & and £ are the angles between a. b and a. ¢ respectively then

g — =

A
NA

b DTG0 T, a. b 208AIW a. ¢ © J6 ErTen SO @, f VWD, WD
@ — =

ax(bxc)=—=(b+c) e a. b c e 207 ardES DO, RS° ¢ §

Options :
37
1. % 4
T
), ® 4
T
2
3.
0
4. ®

Question Number : 35 Question Id : 719650515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Assertion(A): Variance of 4x;, 4x,, ........4x, is 16 times the variance of

Reason (R): If y = ax + b.then variance of y 1s a (variance of x) + b

QBNSBII0 (A): 4x,, 4%,, .oonrn X, DD 3, X5, X3 vvvinnna Y, OB 16 Ogw.
500 (R): ¥ = ax + b ©00D, v DD =a (x DYy ) +b

The correct option among the following 1s

&2 S0l YOS HOGDIH

Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) 0935, (R) 855500 00050 (A) § (R) HOGHAS HStes

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)

(A) 59350, (R) 09550 @00 (A) § (R) HOGLS Ses ¢

(A) 1s true but (R) 1s false

(A) 59350, S°Q (R) 50893050
3.+

(A) 1s false but (R) 1s true
(A) 685550, 0 (R) D850

Question Number : 36 Question Id : 719650516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If . p are respectively the mean deviation about the mean and variance of the first

five prime numbers, then the ordered pair (. f) =
a, f 0 SOV 0E 0 DE°S VoL CINE). adgalo Do gL DuILISS0
20005 DV YD VOB, WY SSoaluye (@, F) =

Options :

(227, 10.42)

e

(227, 10.24)
7w

(2.72, 10.24)
3.

(2.72, 10.42)
4 %

Question Number : 37 Question Id : 719650517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If Ai. Ao, ... Ajs are the events of a random experument, then which one of the following

1s true?

28 AIPGyD\S DT (I0S” Hodasen Al Ay, ... Als GOND, Sob TS DO Vaso?

Options :
15 \ 15
P(mAi)gzP(Ai)—lﬁ
1= i=1 '
| ®

~

T
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P(li_\\' }‘*_SPA.) 14
BiaV. sl A 4 Tam
L=t %) ia 4
2.9
(15 X }3
PL“ZEJA" _JiiéP(A’)
3. %
15 15
p[‘*’iAi]{EP(Ai)— & P(Aiﬁﬁj)
foue i=1 1£i<y<ls
4. %

Question Number : 38 Question Id : 719650518 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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In an examination there are four Yes/No type of questions. The probability that the

: : - -
answer by the student to a question without guess to be correct 1s — . The probability

-

. & : £
that a student guesses a correct answer 1s Sy A student writes the examination either

by without guessing answers to all the 4 questions or by guessing answers to all 4
questions. The probability that he attempt the exam by guessing answers to all questions

. . : g
18 5 Given that a student answered at least 3 questions correctly, the probability that

he answered all the questions without guessing 1s

28 DOLS 0h)D [/ = B DF) 0 T GT°) 0. 28 APgd GHrodiBoet® 04 S
2

TP PP I0 000G @01)5 roozg‘*éseﬁ 3

. P30 28 DOIVTTPISN &28oudION
K}aa;}'*oé%e‘_’s % ol &)wvﬁg 4 ‘@ﬁlwé 23TP2EN) GPowdoe® Owe 4 ”Qré Qpé 2300°2006.0

3
&N DOLT I D). Vg0 B, P¥) ©8 VSTTAPL) &iFo DOLTR Dogradgth -
g0 5o 3 O ©8 VO HSFEPSSN TPPUQ BR, OBD ) DO GsiroudSoot
SNV AL ORI AR SR VNS

Options :

fa—
2

f—
h

405
1429

1024
1429

3.¢
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Question Number : 39 Question Id : 719650519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Four boxes A. B. C and D contam 5000, 3000, 2000 and 1000 fuses respectively. The
percentages of defective fuses in these boxes are 3%, 2%, 1% and 0.5% respectively.
If a fuse selected at random from one of the boxes 1s found to be defective, then the

probability that 1t has come from box D 1s

4 D8en A, B. C, D e S60dr 5000, 3000, 2000. 1000 Lrg@en SO0 ame)ow. &
DHVSD  JrgBusS Eo $ODS € FEPLW SEOP 3%, 2%, 1% , 0.5%. DSOS
208 TR Do OSE YD Sor™ W) 206 28 rgel Do 500 Gol3, @l DG D ol

&.‘)t-f){) KJGEJ“QSS@
Options :
1
13
1. v
4
635
7 %
1
65
1N
2
13
4 %

Question Number : 40 Question Id : 719650520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A die 1s thrown thrice. If getting 1 or 6 i a single throw 1s considered as success, then

the variance of the number of successes 1s

WS PDED 3 PE Q. w8 FO FRoIS Y 1 Tor 6 Tetio NP P, NPV

303)55 &)éa@

Options :

1
1. %

3

3
2. %

2

3
3.¢

2

4. % 9

Question Number : 41 Question Id : 719650521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a hospital. on an average if there are 35 births in a week. then the probability that

there will be less than 3 births in a day. is

2.8 WIS, 28 P0G’ VOO 35 2T JotIDR, 28 S 3 5ol BHy S BzdTeen

SOHERRS DoarSe

Options :
118
e,’-:':
], %
3
2e°
2.V
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2.
3%
l_11§
3e
4. %

Question Number : 42 Question Id : 719650522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Let A (2. 1) be a point and equation of the straight line L be x —v = 0. Let @ and b
respectively represent the distances from a variable point P («. ) to A and to the line

L. If C is distance of the point A from origin such that a = be. then locus of P is

A (2. 1) 2.8 Rdad), L 00 S oan8bee x —y = 0 £9a050ctrail. o 200 P (a. B)
ol A §0 0008w 0% S L & (o sy Grdadnen SOurr a «ooil b @aduotraln.
a = be wciiagy Oructidad ok A 8 (fo drde C wond, P cindy, 20etddde

Options :

3x2+31° +10xv+8x+4y+10=0
1. ®

3x" +3y" —10xy 4+ 8x+4y—-10 =0
"

!J

3x7 +2v* 102y +8x+4v+10=0
3. %

2x*+3y* —10xy—8x—4y-10=0

Question Number : 43 Question Id : 719650523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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The point (4. 1) undergoes the following transformations successively:
(1) Retflection m the line x —y =0
(1)  Shifting through a distance of 2 units along the positive X —axis

(1)  Projection on X - axis

2J0C0ad) (4. 1) 8800t S0b), ErarctdTROR) € Sad)thol .
()  6¥ 8w x—1=0 D Do5650

(1) B33 X — 980 oozl 2 0P8 G0 UL
(1) X — 980 2 I8V

The coordinates of the point 1n 1ts final position are

@0 §°<{Sot3‘ 2ol0ed) PGPSR

Options :

3.4

(4, 3)

®

[

(3. 0)
v

L%

(4. 0)

4 %

Question Number : 44 Question Id : 719650524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A function f: R— Ris such that f(1)=2 and f (I+}-‘) =f(x)-f(v)¥x,y. The area

(1n square units) enclosed by the lines 2 M +35 _1'| < 4 expressed mterms of 7 (1). /(2)

and /(4) 1s

Ooef: R- R, f(1)=2, f(x+¥) =1 (x)-f(¥)Vx.y eociofewod. 2|x| + 5 |y| < 4

Saees” &eks Jvge (B abrades’), f(1).£(2) aese f(4) dorees”

Options :
f(4)

-~ (M)+27(2)
f(4)
1+£(2)

2. ¢
2 £(4)
27(1)+ £(2)
f(4)
2f(1)+ f(2)

Question Number : 45 Question Id : 719650525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Two straight lines 3x + 4y = 5 and 4x —3y = 15mtersect at the pomnt A. The

equations of the lines passing through (1. 2) and intersecting the given lines at B and C

such that AB = AC are

Ooled DO O 3x + 4y =5 RS 4y -3y =15 w A Doy 56
oGotdS otrow. (1, 2) Doty thore D'edwr, AB = AC @Cﬁ)ﬁgﬁb S0 B
08030 C DodHv Sln otsow) 0L DaNEOLIINER

Options :

x+4y =9, 4x —y = 2

1. =

98 = 4y = 5, &% 9y = 2
2. %

6x -y =4x + 6y =13
3

Ix+y=9%x—-T7y +13 =0
4. &

Question Number : 46 Question Id : 719650526 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

-

The equation of a line making an angle 60° with the line x + y — 3 = 0 and passing
through the point (1, 1) 1s

(1, 1) Do) ot Teh», x + 1 — 3 = 0 B 60° E'eao B3 B PSSO

Options :

A+ 3 +(1-43)y-2=0

~

T
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2x+y—-3=0

7w

Br+1-By=l
3. %

VBx+ (@2 +43)w=2(1++3)
4. %

Question Number : 47 Question Id : 719650527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let P be the pair of lines represented by 2x” —35xy + 2v°+6x —3y = 0 and consider
the following independent statements:
L a 1s the x coordinate of the point of intersection of the pair of lines P.
I1. B is the slope of one of the lines of P passing through origin.

III. vy is the constant term in the equation of the pair of angular bisectors of P.

2x° =5xy + 297 46x =3y = 0 I 2rDo0s dar OS(90 P, 80l 0go® OSSP
DO iedodob.

L P &9 00 @0l 2olded)s x AGrD5e o

II. P 9 o, srwdeldeg) Dok Al O e B

[II. P SR 0aw § Jadg@etes Sar aliiy 080tes” 0 Do Y

then
) b@
Options :
B<y<a
| ®
x<B=y
7w
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Question Number : 48 Question Id : 719650528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

The combined equation of the diagonals of the parallelogram formed by the lines

(7x* —4xy +8y° )2 +(4x—-8y—32)(7x> —4xy+8y7 )=0 is

(7x* —4xy+83° ) +(4x—8y— 32)(7x" —4xy+8y%)=0 Jawe® AS)E DTS
S 20 OIS STLNL GG DEGE0

Options :

X —xy+1 +3x—15v=0

| ®
3x° —6xy—2y*—15x-17y=0
P
3x* =5xy—2y" —24x-8y=0
3. ¢
X —x+y* +15x-12y=0
4. %

Question Number : 49 Question Id : 719650529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If the origin lies on a diameter of the circle x>+ v’ — 4x — 2y — 4 = 0. then the

equation of the circle passing through the end pomts of that diameter and the point
(1,2) 18

X+ —4x -2y — 4 = 0 HTS8 w8 5o D DL Lotidel) God . G P50
@a@% 20l0eHT, QoS (1, 2) 2olad) Do AL &’JP)?_?:: e080¢8I0

Options :

4+ 9= 2x —4y =0,

1. ®
3+ - 19v +- 8y ~12 =0,
2.9
X+ 79— 31x = 28y + 17 = 0,
3w
49y =S
4 B

Question Number : 50 Question Id : 719650530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If 24 and (2.) 1s the mud pomt of a chord of the cucle

x*+ v — 4x + 8y + 6 = 0, then the values of the y-intercept of the chord lie in the

imnterval

X+3'— 4x + 8y + 6 = 0, Hord8 a8 g 0y Woldda) (2,a), a#—4 wond
@ 2y Y-90S30E DD Gols oSG0

Options :

(—4—14, -4+14)

1.v

~

T
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(_4! 4)

(4-14 , 4+14)
3. %

(-2,2)
4. %

Question Number : 51 Question Id : 719650531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

C, and C, are the external and internal centres of similitude of the circles

5

X*+3v' - 2x +4v+1 =0 and X+ v+ 4x — 6y+ 12 = 0. If the radius of the

; : o . 9
circle having C, G, as 1ts diameters 1s 7 then — r =

s

gt Py < 4y+1 =0 B> x+ ¥+ 4x — 69+ 12 = 0 ST, eI

9
oG DEFD Sogren (), C, . C;C, o™ (0 Sy& Pgrdo 1 HONS, = =
Options :
15
1. %
V15
2. %
2+/34
3 %
3434
4.

Question Number : 52 Question Id : 719650532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Suppose the circle S:x*+3°+2gx+2fv+ ¢=0 cuts orthogonally the two circles
S x*+1" —4x—6y+11=0and S":x* +v° —10x—4v+21=0. Ifthe centre of S= 0 lies

on the bisector of the angle between the positive coordinate axes, then

20+2f +c=

S:x’ +3° +2gx+2f5+ ¢ =0 o, S:x*+1° —4x—6y+11=0, Qo
S":x*+37—10x—4y+21=0 SO V2P WoGNODS T e. S=0 oo, &S
QEFOTEO 2085 578 VY Wotedd B D &oll, 2g+2f +¢ =

Options :

12
1. %

3
7 8

4
3.¢

0
4. %

Question Number : 53 Question Id : 719650533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the circle S,: x* + y* = 16 intersects another circle S» of radius 5 units such that the

: : 3 . .
common chord is of maximum length and slope "R then the centre of the circle Sy 1s

-
-

X7 +37 = 16 5%0 , FgFde 5 0RO KO Sy SYT°R), &G By Fad)

5 |

(30D, TN 1 Qﬂcﬁ.},sg.ﬁ})rﬁé.) DGR, S2 Hyho Soo

Options :
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5'? _5‘ 5
1. v
[? -12] (-7 32
E {}}*“__
£ \ 5 5J
]
(-9 -12\ﬂr(9 12‘]
5" 5 \5"§ )
3. %
12 9] ['-1:3 -9]
__ar = B -
[5 5 55
4 %

Question Number : 54 Question Id : 719650534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
;T3 3 hz 3
For the parabola y=—x"+—x-h+—,
3 2 4h

if the equation of directrix 1s v = £, then

k:h=

P . K 3

DTS00 ¥ :’Tx‘ +%r—f:+4% 3 Doed T DASBE0 ¥ =k WD, @
> F 1

k:h=

Options :

16 12

—39 216
2. ¥

20 : 27
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Question Number : 55 Question Id : 719650535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The equation of the common tangent of the parabolas x> = 108 y and y* =32 x is

o 3 A v, 7 i ..
DTESUAIPL X7 = 108 y DO y° =32 x 0N &yl 030 S VaL80te

Options :

1. ¢
2x + 3y = 36
R
3x + 2y + 36 = 0
3 #
3% + 2y =36
4 B

Question Number : 56 Question Id : 719650536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The ellipse having its foci (0. =1) and major axis of length V5 is

Taben (0. +1), oo D V5 o o SBS e

Options :

20x°+ 4y°=5
1. ¢

36 x>+ 20v? = 45

!:x.'f
®
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4 x* + 20_1'2 S

20x° + 36 ' = 45

Question Number : 57 Question Id : 719650537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

’, i

. x vy : 4 g 2
An ellipse — +- =1 with eccentricity V2

. . ' . . 3 g
5 1s inscribed in a circle x*+ y7 = 18
a ,

such that the length of its major axis 1s equal to the diameter of this circle. The locus

of the poles of all the tangents of the circle with respect to the ellipse 1s

5

24/2 * p 4 .
%ébcgfﬁ %ﬁ" fo af O Do x,,+‘1,,:1, X+ y =18 SHeS

b - -—

4 a
©ot50DoeIG0B. BF 3o BTKo Fad), Sy PgPS Do, B S0 SyiPs, SyT0S

MO 0 AC2! OOV G BYaTPL Lot Do

Options :
2 ) 8
X Ty =—
1. 9
18x + 2—1 1
9
2. %
18 9
3 ®
t‘+9}" 1
18 2
4.

Question Number : 58 Question Id : 719650538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

If the circle x*+3° =a” intersects the hyperbola xv=»5" at four points

X*+3 =a’ %0, xy=0" @9 HSOOIE) THVHD DotideHN

(% 31)5 (300 92) (35 33) (3, ) 085" @08 DN V) Vy V3 ¥y T

Options :

n4
1. ¥

0
2.8

b4
3.¢

bE
4. 8

Question Number : 59 Question Id : 719650539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If the line passing through the points (a. 2. —4) and (5., 3, b) crosses the ZX-plane at the

pomt (—a +2b0.0,a+Db).then 14 a+7b=

(a,2,—4), (5. 3. D) Do) Mot A O ZX- Sy (—a +2b,0, a+ D) Dotod
5 oo, D\ 14 a+7b=

Options :
35
1 %
73
2. -
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Question Number : 60 Question Id : 719650540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The direction cosines of the normal to the plane containing the lines having direction

ratios 1. 2. 1 and 4. 5. —3 are

&8 Jomwgen 1.2, 1 @ose 4, 5, —3 P (fo S0 $O0 Gol Srds (10 @8 Loz Ja &F
o

Options :
31 7 -3
J179 179 /179
| "
.
N
54 .
3.8
> -
__0
J5 5
4. %

Question Number : 61 Question Id : 719650541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform



The foot of the perpendicular drawn from the pomt (1, 1, 1) to the plane 7, 1s (1, 3, 5).
If (2.2, —1).(3.4,2). (3, 3. 0) are three points on the plane 7, then the angle between

the planes 7, and 7, 18

(L 1, 1) Dothosdy D0d 7, $erdd AOS Lot Fo (1,3, 5). (2.2, —1), (3. 4, 2),
(3.3.0) e 7, Swo » Arcd DoBdDHWANS, deren 7, 7, © e Seo

Options :
T
2
1. ¢
af 1
dos ] |
3)
7 %
T
6
3 %
Pl
COSs e
5
4. % |

Question Number : 62 Question Id : 719650542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. l—cos(x*+7(x+2))
lim = =
x—0 X

Options :

T
2
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T

P
3. ¢

T

4
4.8

Question Number : 63 Question Id : 719650543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

= COiS 4x o
-
The value of ‘@’ for which the function f(x)=< a . x = 1)
Jx x > 0
16 ++/x —4

1s continuous at x =0._ 1s

Qade f(x)=1 a, 2 =0
\/; X >0
V16++/x -4

X =10 OGS 9D 0 AENS), ‘@’ DD

Options :

2
]. %

8
2.4

4
3=
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Question Number : 64 Question Id : 719650544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Iff(x)=

r 1 \ 3¢ 1 r 1
Tan 1( — . i-._-—Tanl — : }-:FTanl — - +.+
sm - x+smx+1 SN x+3sMMx+3 SN  x+Ssmx+7

upto 10 terms. then f'(0)=

J &)=

. 1 \ g 1 ) X |
Taxﬂ{ . : -+ Tan™ | — _ |+ Tan™ . _ Tl
sin“ x+sinx+1 ) sin“ x+3sinx+3 ) sin® x+5Ssinx+7

10 DHore $6%0, ©ond ey f(0)=

Options :

=&
101
| ®
100
101
7 R
—100
101
3.
0
4. %

Question Number : 65 Question Id : 719650545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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. — . " 2 - .
If « is such a minimum value for which the inverse of f(x)=x"+3x—3 exists in

d_g
dx

: : 5
[@.o0) and g 1s the mverse of the / then at x =& + 3"

f(x)=x"+3x-3% [a, ») & DS’B0 God 5N DS ‘a’, HOOKH f RS,

v S dg _
DS’ B0 g VoS, WY X = a+> DG ==
Options :
1
L® 2
1
2. 3
1
4
3w
1
s O

Question Number : 66 Question Id : 719650546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. : e P dy
If v = e (cos bx + sin bx)satisfies the equation 1 —K~'—1-+L}‘ =1
dx- dx
then L + DK =
- ; d’y dy 3 &
v = €% (coshx +sinby), —5-K—+Ly=0 DDEETI) S0 DO , 98D
TodxT dx
L+bK=
Options :
0
| %
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-

- . :
If — 1s the length of the sub normal at any pomt P(e. y) on the curve

o
P-a*= Y thenk=
=
3 .’3 -‘: k’
P -d?= 1L 580 2 D83 Dot P(, 1) DG & Lot ot Tked) — WO,
a o
WY\ k=

Options :

a
1 e
2
a-
2. %
3a
9,
3. % -
o
4.
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A tank m the shape of a rectangular parallelopiped has volume 27 cubic meters. This
tank 1s filled with water such that the rate of change of level of the water 1s thrice the
rate of change water quantity falling i the tank, then the height of the tank (in meters)

1S

S ITTES'D 88 5 L0 D00 27 20D DD, SO 93 Mo STEy Béw,
5SS DB D HOXTTo SPENOEE SP) BED SoBEIP G SeeS® DoDracotiood,
5" D (DS Doh ?

Options :
rs 9

|_ W

18
S BE

31
3.+

243
4 %
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Letf: [2. 5] — E be a differentiable function and J06) =1.Ifthereisa ¢ € (2. 5) such

f(2)

that cf"(c)=2f(c)—2¢ then f(x)=

g
fi[2.5] 7 R, 28 95508000 Headoade, A4S =1
/(2

cf'(c) = 2f(c)—2¢* ochytn ¢ € (2, 5) o, ®yH f(x) =

Options :

B

v
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¥ —6x +3x+10
3 =

3 2

r—71x +10x
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Match the functions of List I with the 1items of List I1.
ep&P-1 5D Q&Wu@_ 23020&P-11 ¢5° 0 eodainewes” 22¢50NGs.

List1]

g [ |

A) 3x*—-2x* —6x° +6x +1

B) x+—,Vx<0

C) x*(7—x)

D) x* +(8—x)

The correct match 1s

OO 238

Options :

A B C D
JAY I II 11

=

A B C D
¥ W T HW
A B E B
V O I I

I) has minimum value at x=4

=4 2 9«0‘%‘1 Ded &od

IT) has maximum value at x=—1

x="1 & A0 DeVD &0d

I1T) has maximum value at x =4

x=4 af:cg ﬁ&‘é& DS &od

IV) is decreasing in [2. =)

[2. ) &° 0380

V) 1s increasing in [2, ®)

[2. ) es83ea0

~

T
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Forxe i 'j.: *l H\/1+si.ulx+\/l—€inlx) dx =
(3r ) .
xel—arl3 I(Jl+5i11.?.x+J1-sinlx ) dx=
. 4 )
Options :
—2 cosx +C
| ®
2 sinx + C
2 %
—2smx +C
ERE
2cosx +C
4. &
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x*(xsec” x+tanx)
Ifj s—dx=Alog (|x sinx+cosx|) +B
(ytanx+1)

f(x)

(xtanx+1)

+ C then

f(A+B)=

.’E‘z(.\'SE‘CE x+tall.1') . £(x)
J ——dx=Alog (‘r 5111‘1-+cos.r‘) +B +C oond, DO
(xtanx+1) (ytanx+1)
f(A+B)=
Options :
1
1. ¢
0
7R
! |
3%
4. % 2
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2

If _[1'3(logx) dx = 1‘4[A[log1’)3 +B(logx)+Cloge]+K._ thenA+B+C=

_[x“" (log Jr)2 di= x° [A(log ?a:)1 +B(logx)+C 1Dge}+ K 200008, 09396
A+B+C=

Options :

-
24

| ®

4
25

2. %

~

T
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F9x+15 : - (A-B) g(4) _
Itjlj_tsl__gdx* A log|g(x)|+B log|f(x)|+C, then o

Oy + 15 ' : ., (A-B) g¢(4)
dx= Alo x)+B lc}g X +Cﬁe__c)oggé}), O\ s =
I.ﬁ—(sx—9 g|g(x)) g|f(x) ) =
Options :
3
1. ¢

2. % /
1
3%
3
4. % !
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It — |sm—+sm— +......... +SIn— |=
n—>x 2n | 2n 2n 2

e

Options :
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0
Options :
4 log 3
2
|. %
& log2
3
2.
2 log 3
3.
3
2 g™
2 2
4 R
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The area (in square units) of the region enclosed between the parabola 12 = 2x and the

liney=4x-11s

12 = 2x Ho°d00N0, = 4y ~1 Sl HORGHS P FFvgo (3 || braye)

Options :
9
32
1. v
7
23
7 ®
16
3, % 3
15
4
4. 8
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The differential equation for which v = ax® +bx+c is the general solution is

v=ax’+bx+c Fode PO KO S3EOS H0ESEww0.

Options :
d*y -
dx*
1. ® ‘
3
d’ vy _0
ix’
X
2. ¢
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3. %
3 4
dy dy
dx dx*
4 B
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The general solution of the differential equation

(3y—7x+7)dx + (Ty—3x+ 3)dy =0 is

99SOD PSS (3v—Tx+7) dx + (7Tv=3x+3) dv = 0 & J-des JSS

Options :

2

(x —y + 1) (x+y 1 =e

(X 4+ + 1)5(.1' -y —1)2 =

7w

(x —y — 1')2(1' + ¥ —I]S: C
3.9

(x +y - 1y =€
4. ®
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The general solution of the differential equation

y .. ¥ .
xcos—(vdx+xdy)=ysm—(xdy—ydx)is

X

xcos L (ydy+xdy)=ysinD (xdy — v dr) @SEOS HAEGE B0y, P S
; 2

X

Options :

log(xv)=Ilog cos fap

¥
| %
' 1"\ C
cos[ S e
x) xy
2.V
&
log(xv)=logsec—+C
"
3w
XTy+eEe=90
4. %
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In atomic scale the weakest force i nature 1s

DOSTEVSS OIS e K0ld HEYIES' 0D WOLPSTS W0 6

Options :
Strong force

WO W0

Electromagnetic force

@Cﬁ)g@@iﬁ%oé 2000
2. %
Gravitational force
(ROTPE0Es 200
3.¢
Weak force
SIS 2080
4 ®
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In five successive measurements, the mass of a ball 1s measured to be 2.61 g, 2.58 g,

2.40 g. 2.73 g and 2.80 g. The absolute error in the measurement 1s

a8 200D ST SERTP 25 P O8odS e 2.61 g, 2.58 g, 240 g, 2.73 g
300030 2.80 g P &) &. SOBS'D HGS (absolute) 8w

Options :

0.09 ¢
1. &

0.07 g
2.8
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Ly
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A particle 1s moving along the y- axis. The position of the particle from the origin as a

function of time (t) is given as y(t) = 10 te™ . How far is the particle from the origin

when it stops momentarily (v 1s given in units of meter and t 1s in units of sec.)

28 gl y-09&o (Vole® LOIFEYoR. OPL &olla) ok Seic PR SPOLW (t) o
D00 y(t) =10te™ 5S320Ged. & St LelorP BSOS Sre) Dotddal) ok
0Jo® GrdotS’ Gotio®? (Y DVeSTPmren EXGES SH00KN t DISITPen VEIS” B3 20EI)

Options :

5 meter

S5e meter

2
#

5
— meter

10 meter
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Two cars A and B are moving with speeds Va=120 kmv/hr and Vg= 50 km/hr
respectively m the directions as mdicated by the arrow in the figure below. What 1s

the relative speed of the car B with respect to car A?

A 00w B oD o 0 DS WS @S0 Va=120 kmvhr  S$H005w
Ve= 50 kivhr © $Ged” Soenear) ow. A & FONS B Ay P& 3t

y
Tth B
l CarB
7 ==t A
Car A
ESE\‘ X
b
Options :
70 knvh
| ®
120 kim/h
2. %
130 kimm/h
3.¢
170 kimvh
4 8
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Imitial velocity with which a body 1s projected 1s 10 mv/s from the base of an mclined
plane as shown in the given figure. If the angle of projection is 60° with the
horizontal, then the range R 1s

[Take value of g = 10 m /s°]

E D08 T0t980es” 60° HEDE S IR ¥ S0P DED SO JKSD 10 m/s $obd
QSP DESNS” WPDHWEIR. & S0a)) IS @) R
[2 =10 m /s? (P 300§ HS0]

y
A

m
2
1. =
40
—1m
3
7. 8
5\@ m
1N
20
—m
3
4. <
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A projectile is fired at an angle of 45° with the horizontal. Elevation angle of the

projectile at its highest pomnt as seen from the point of projection 1s

8 DEDE $De0STeB0°08 45° © §'tS” DYWER. DEDE Dotdal) S ok, DEDES
QUE), (900 2Iotidad) S &3) & (elevation) §'gaci0

Options :
60°
1. ®
1
Tan™ ( —]
&7
R 4
&= :
Tan'ILJ—J
)
3 B
459
4, %
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A pomt P is moving in uniform circular motion with radius 3m. Let at some instant

( o M

k6:‘—4 j | m/s? the position vector is r and

velocity vector 1s v . The correct statement 1s

the acceleration of the point is a =

a8 Doti0ad) P Tog8o 3m B0 o$0S SYTsS S0SeeS §Eented. 1 P O 005
v 36 06% 9008, L6838 D3a%0eS" Bothie) B8t a = ( 6 ?-4}}111@3 . 00 DSGe

Options :

~

T
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v.a=0 and rxaz0

v.a=0 0005w rxaz0

]_*ili'r
v.az0 and rxa=z0
v.a#0 00 rxaz0
2. ®
v.a=0 and rxa=0
v.a=0 003 rxa=0
3./
v.a=0 and rxa=0
v.az0 000 rxa=0
4 %
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A block of mass 3kg 1s pressed against a vertical wall by applying a force, F. at an
angle 30° to the horizontal as shown in the figure. As a result. the block 1s prevented

from falling down. If the coefficient of static friction between the block and wall is
\5 . then the value of F 1s

(use g= 10 nl:’sz)

3kg 85078 &Sy, 8 By 06 F 008 30° §'tioes” $e3 DairotSoras By ('
S DSOS SFOSEP Goitiold. SR By $o8%0 HEE AT 00N
TES S00% B3YE S0 VSE Dage 3 Gows, F e

(g= 10 /s o)

pd

i i R i e S R R

Options :

30N

1543 N
603 N
60 N
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A force F =(2i +4j)N is applied on an object of mass M . What is the work done by

this force in moving the object horizontally along the x-axis by 3 m 1s

M 335098 S0 ¥ S92 F=(2i+4))N oo QOIrHedntod, X-©%o@ 3m
BPES0ES" E¥22 D570 HDoiEPAS &8 20050 WS DR oo

Options :

v 4
. %

4J
7 %

I
3. ¢

8 J
4. %
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A ball of mass m = 1 Kg 1s thrown from the top of a building with initial velocity
V= (20 m/s) b4 (24 11v's)} at time t = 0 s. The change in the potential energy of the

ball between t = 0 and t = 6s. 1f the ball does not hit the ground

(Assume g = 10 m/s?)

t=0 s 00K S5, m = 1 Kg $S50°8 0 2003 &80 Dol $08 TR F&oa ko

v =20 m/s) i+ (24 m/s) ] &5 DROSPE. t = 0 SO0 t = 65 © g 8o AP
SENY, Q) 133 FHOS B O8) odol.
(g =10 m/s’ 055 &)

Options :

~

T
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—3601J
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—38017
3. %
+32017J
4, ®
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A solid sphere and a solid cylinder. each of mass M and radius R are rolling with a
linear speed on a flat surface without slipping. Let L; be magnitude of the angular
momentum of the sphere with respect to a fixed point along the path of the sphere.

Likewise L> be the magnitude of angular momentum of the cylinder with respect to

. . T "R
the same fixed point along its path. The ratio —Lis

2

0§ 8,63 $3550°8 M 500050 agFFo R SO0 2.8 D0 (T'vo 500050 8l 0 0 a8
BPAH SEeS® S GDOBLe D EFEKE TS D. (e AN, DS W8S

2otided) 5 (PP G, SEOD BSgHINOSTSSD L1, &BIGP &8 oo S Qe

DiSetS, Hro G, SBOD ESgtto HOTIH0 Ly wowd E! )
Options :
11
15
1. ¢
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2. %
z
5
3B
.
15
4. %
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An object of mass 2 kg 1s hanging from a rope that 1s wrapped around a pulley of

radius 25 cm. The mass of pulley is 2 kg. Find the acceleration of the object.

(Assume pulley to be a solid disk: g = 10 m/s%)

TPgrdaln 25 cm, 2 kg @S50°38 (o 2.8 S0y (pulley) 2 ol 2 kg B830°8 So 28 S0ad)

S GG FREEIYB. S TS, BETD), §0806
(2= 10 n/s* DR, $2) 28 oS VY ®NSE)

Options :
2
— m/'s
-
i |

|, ®
4
— s
3

7R

(¥

~

T
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= nys
o

3 R
20
—= VS
3

4. <
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. . - . 4
A point mass oscillates along the x-axis according to the lawx = x;, cos (wr - Z)' It

the acceleration of the particle 1s written as a = A cos(wt — ). then

X = XpCoS (mt = E) QO BNV 28 2ol PN30°3 X-Bo Jozo& COT°W

Dok, & Seaald AIsy B0erR) a = A cos(wt — §) P JPAS @YY

Options :
3 —3m
A = x50%0 =
4

. &
p/ 3
A:;‘-D-(S:__

2. %
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The graph correctly represents the variation of acceleration due to gravity (g) with

radial distance from the centre of the earth (radius of the earth = Rg) 1s

XFoo o6 BEODS Erdees® FONSYYD PO TR B3t (g) S STB0)DH &
8o8 RS o) (PR DOIP WP (8 g ¥So = RE)

Options :

1. ®
2.«
A
g
>
r—
ERE .
A
g
>
r —
4 #
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The length of a metal wire 1s found to be L; and L» when the tension of T; and T> are

applied to it respectively. The natural length of the wire 1s

T1 0050 T2 Bdgehen B0 S &OOIFNIDTR)YR) WP e ST Li SHdakn Lo.

& & ) HEE T

Options :
L T+L, T,
d [
.
L, +L,
2
2. %
E B+ T
3 8
o R
T,-T,
4.
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A cubical block of wood having mass of 160 gm has a metal piece fastened
undemeath as shown in the figure. Find the maximum mass of the metal piece which
will allow the block to float in water. Specific gravity of wood 1s 0.8 and that metal 1s

10 and density of water = 1 gm/cc.

160 gm Q53078 Ko a8 Doesed D) AR D’ WPty ST S08) TR Sotd
E0eGiod. & B Oy AIP B GoldEEAS, SOOI ST Sk cly H(OQ
$350°8 Syl D DY DOSISD 0.8, ST A BOBgSH 10 HOOK
A6 Fo@S = lgm/ce.

66.6 gm
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A solid of 2 kg mass absorbs 50 kJ when 1ts temperature is raised from 20 °C to

70 °C. The specific heat capacity of this solid m unit of J/’kg °C i1s

2 kg {e530°8 30 28 D0350ad 20 °C to 70 °C © J& RS0 50 KT 450 'Q000). &
DI VBYY Fdgo Jkg °C OIS

Options :

500
1. &

1000
7 ®

1500
3 %

750

4 %
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A solid cylinder of radius 11=2.5 cm. length /, =5.0 cmand temperature 40 °C 1s

suspended 1n an environment of temperature 60 °C. The thermal radiation transfer rate
for cylinder 1s 1.0 Watt. If the cylinder 1s stretched until its radius becomes > = 0.50

cm. the thermal radiation transfer rate 1s changed to :

1=2.5 cm °gPdo, £, =35.0cm I $OO 40 °C © & &I), & Do VPar) 60 °C
&d) w¥ PorSGue (environment) & JUrEOITR. Do &R V88H WwhO Tl
1.0 Watt. &0 argrdo 12 = 0.50 cm @00hgéodn Jrard) 0 7 & 508 whd
(e AV RNV V)

Options :

335W
1. ¢

~

T
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4.50 W

P

0.75W
3. %

1.25W
4. %
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Five moles of an 1deal gas has pressure P, volume V, and temperature T,. The gas 1s
expanded to volume 3V, along a path so that the pressure P is changed as function of
volume V as P = Po(V/V,). The pressure is then reduced to P, maintaining the volume
constant. The gas undergoes an 1sobaric compression till the volume & temperature
become V, & T, respectively. The total work done by the gas during the entire

process 1s

5 moles &¢35) P08 WGdSo Po, &0 0057EI0 Vo 00050 &I To 0 300 &) &.
NSo P 0 005eic V' Q000 P = Po(V/V,) 00y a8 D& & Poiedd 3V,
DOSHOSTEPS 258" Do20Gold. B0 L0 DOBITEI0 VTP Goleddbd I T, Po
50 BHoed. SO & TPO50ed) 0 DOBI®EI0 2HOCKN &GN ST, Vo 5500w To
e TP SIPEISENTP 28 DN DoRETPUS S0, oD & Jrd HSANS” 3°alned)
°{0° 2300 a30Do 00

Options :

PoVo/3
| %

3PoVo
2. ®

5PoVo/3
3 ®

~

T
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Question Number : 100 Question Id : 719650580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many rotational degrees of freedom does a rigid diatomic molecule have?

28 Byt OINGITED WEDDIH W) wades Do O Gobrron?

Options :

0
| %

1
2.5

2
3.

3
4. %

Question Number : 101 Question Id : 719650581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The transverse displacement y(xit) of a wave on a string 1s given by

L .
70 4 et e Wabxt)  Thig represents a

a8 SSoffo CINE) BSE PR Y(X,1) CINE HEEo Y(x, 1) = @ P2 1y
QEGDTE. BO BAD WPV

Options :
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o ; .G ; b
Wave moving i negative x- direction with speed , [—
a

200080 X- QFeS” JE SGed” ey Bdoflo
a

L
Standing wave of frequency Jb
Vb 3550 0 RS BBatfo
R

_ 1
Standing wave of frequency —

Vb

|
3)":(53@(550 o) @(‘.’) €58oto

3. % Jl—)

Wave moving in positive x- direction with speed \/:
a

A3 x- IS JE Séed” ¥onehnasy Sdotio
a

Question Number : 102 Question Id : 719650582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A telescope has an objective of focal length 100 cm and an eyepiece of focal length

5 cm. The magnifying power of the telescope is

a8 QrOR00 TPeigoB0o 100 cm &) SEESPRY HOCKN Treige®de 5 cm &) &l
I L) EON obd. EFEHOV NG, BSGS PS0Gge50

Options :
20
1. ¢
500
7R
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Question Number : 103 Question Id : 719650583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
A convex lens and a concave lens. each with focal length of 4 cm are separated by a
distance of 6 cm along their axis. An object i1s placed 8§ cm before the convex lens.

The distance between the object and 1ts image is:

S 58 4 cm TPeIgeB0e (0 &8 5002P5P0 200NN QLSO SLSPLN TP RV (ol

6 cm BrSees® SEIOHE GS)D. FoarTS % S0l 8 em BrSetS 8l S0P
SoSenGiod. SXVeY) SO T HeRIcado g GrSo

Options :

10 cm
. ®

15cm
2_ 9

18 cm
3.

24 cm
4 %

Question Number : 104 Question Id : 719650584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The limit of resolution of a telescope is 3.0 * 107 rad. Assuming that it is used to see

the light of wavelength 525 nm from a star, what should be the diameter of the

objective

8 SPGB0 CIE). DB, 86 885G 3.0 x 107 rad. & SPSEOI0 a8 TG Dok IS

SSots B 525 nM K50 FeBD IPEEIS SHOIFACTPEDEE, T S KLY Tgdo

oJotH?

Options :

2.1m
| &

20m

1.8m

19m

Question Number : 105 Question Id : 719650585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Two negative charges of equal magnitude are located in x-y plane as shown below n

the figure. The direction of the electric field at point P 1s

0037%3 DOTEIo (38 Dol 2oL BWITEN X-Y €900t DEES” WP DEeTP Govdetemeaw. P
2Jolidad) 569 gD THOS.
y1

X —>

— ) —— D —
ue

Options :
along positive - X direction

AAE B FAL A

1 ®
along negative - x direction
2OEPD 8 - X BdaJo2ule

3.
along positive - y direction
AP E - y Odadorole

3. %
along negative - y direction
2EFPO S -y BDddotle

4 ®

Question Number : 106 Question Id : 719650586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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An infinite non-conducting sheet has a surface charge density 2x107'C/m” on one
side. The distance between two equipotential surfaces whose potential differ by 90 V
18:

=9><10”i“]f)

(Assume

4 g,
VoD TUIY WSTE DOEINIH &8 J)d &) Do WId Pl 2 %107 C/m*.
53“63@0‘5385 S 90 V do QeEE) BUrL Gy e oJoth

L il im 0586 )

(

4m g,
Options :

20 Tmm

23
—mm
n

Question Number : 107 Question Id : 719650587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A cvlindrical wire P has resistance 10 Q. A second wire Q has length and diameter

half that of P. If the material of both the wires is same, then resistance of wire Q 1s

a8 Qrarsed &6 P, 10 Q © A0ES0 $O0 Gold. Dolicd &5 Q, Fcad) S0k argdo P
QAN Fcad) SOOI wPgReeS’ Dol &) . Cothd S DWPFS0EN Wi BOWSB, Q &
SVAVIIEVIOTARNAY

Options :

10 Q

20 Q
2.

Question Number : 108 Question Id : 719650588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the current 1n the circuit.

éo& Seoees @@5@5 éﬁ";ﬁrﬁ; @gzrmﬁ}:}l)

10002

10002

~

T
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Options :

0.01 A
| ®

0.02A
27 R

0.03 A
3. %

0.04 A
4,

Question Number : 109 Question Id : 719650589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Two tangent galvanometers A & B have coils of radi 8 cm and 16 cm respectively

and having resistance of 8 QQeach. They are connected i parallel with a cell of emf

4V and negligible internal resistance. The deflections produced in the tangent

galvanometers A and B are 30° and 60° respectively. If A has 2 turns, then B must

have

ol teBodd Pe 5“36 Dédo A Soaskn B ©eS S0P 8 cm 005w 16 em TP

(90 ¢ WD &T°) 0w, OGS wEPHW 8 Q © IACGIW 0N &) D. VD VIV
AOGSD O emf 4V S0 2rg00es” (éd0) DSBS Dot Woheozeaw. A S00kn B
EPo@ol] PO’ AP’ et BHSETL DLden SEdP 30° S00kw 60°. A & &)

5620 2 900 B €5 6ot 5

Options :

18 turns

12 turns
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6 turns

2 tums

Question Number : 110 Question Id : 719650590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
A particle of charge q and mass m moves in a circular orbit of radius r with angular
speed w. The ratio of the magnitude of its magnetic moment to that of its angular

momentum 1s

w330 q SOOI BS530°8 ‘M’ SO ¥ Stso TPgPdo I P 0 SYTE 843" §'iod & w

5" EE00ES) &. TP WO 0 7P DOSITDPIS SHO0KN TPV §'HO% PdgadPRS S
SR

Options :
" -
n ®
1. ®
q
2mr
2.8
5 3
2m
3. ¢
2q
m
4, ®

Question Number : 111 Question Id : 719650591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes [s
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Two short magnets of equal dipole moments M are fastened perpendicularly at their
centres which lies at origin. Let two magnets lie along x-axis and y—axis respectively.
The magnitude of the magnetic field at a distance R from the centre on the y-axis 1s

Hy M,
ir R’

. Assuming R >>/ (magnet length). the magnitude of M 1s

2.8 QIWYS &PEo M EONS Cotid LR WO oTPL SoliPe oL 2Jotiad) &) Qoo™
Golelidn 58 &0°) 0. €8 ol WODTFYoTPL) X-Bo HOMN y-0&o oJotdls SCOT

&T°) 0. Y — ©%o P SP0 Botiied) Dol R SrSetS” ©90%ir) o950 HOXTSo ii li; .
/4
R >>/ (9050 0% D), TP ©5%0083, M 500

Options :
M,
22
1. %
M,
2
7 ®
M,
J5
3.¢
M,
J:E
4 %

Question Number : 112 Question Id : 719650592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A varying current in a coil changes from 10 A to zero in 1.5 sec. If the average emf

imnduced 1 the coil 1s 200 V. the self mductance of the coil 1s

1.5 DESOES' 28 65 S08eS’ D5 DT 10 A Dol X0y 50 SB0t0B. B 5o’
2OBDS Vo0 emf 200 V 0w S k) Glugy, K30k D0 ek

Options :

25H
1. %

30H
3.

S50H
2.3

45 H
4. &

Question Number : 113 Question Id : 719650593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An alternating voltage & = 30s1n 200 7 (in volts) 1s applied to the circuit below. The

amplitude of the current through the circuit 1s

& =3051n200 7 (SOS) V0% T2 Sobd SLONES &HATPNowieNtod. SLGNS D
DD DTPIP D00

N

10€2 0.05H

] 1

~ 500uF

Options :

~

T
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3A

1. v
2A
2. 8
1A
3 %
0.5A
4

Question Number : 114 Question Id : 719650594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A parallel-plate capacitor with circular plates 1s bemng discharged. The radius of the
circular plate 1s 10 cm. A circular loop of radms 20 cm i1s concentric with the
capacitor and located halfway between the plates. If the electric field between the
plates is charging at the rate 3.6 X 10" V/(ms). then the displacement current through

the loop 1s:

(Assume =9 x 10° Nm*/C?)

dm g,

SYTE DOTW 0 VSPeBE-DOEL 3P0 &PTSN JoDWGEd. SYTFFE DO
PGS0 10 em. 20 em Pgrde K0 ¥ SYTTE &uo)(Lre) SFEAEOS” SolEyB
Coth) DOTL g FPUS” Gourdd. DO Sy Agd FGI 3.6 x 10 V/(ms)
BeeS* IS5 IODED, G0y HoG® PSajod HIPETSN

1

=9 x 10° Nm’/C? ©5§&)
4x g,

(

Options :

1 A
1. ¢
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2A

7 R

3A
3. %

4A
4 %

Question Number : 115 Question Id : 719650595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let Vi and V> be the maximum velocities of the emitted electrons when the surface of

a metal 1s illuminated with light waves of energy E; = 4 eV and E> = 2.5 eV

: : : , e M
respectively. If the work function of the metal 1s 2 eV, then the ratio \—’ 1S

Ei = 4 eV 5005w Ex = 2.5 eV d00 0 50063 oBaSud af 3 S0
OFBOIVS TPO Dol JNSE DOFIS $0% tho SEP Vi H00 V. &% 00

. < : W
Ho%o 2 eV, wowed —L A0S ?

Options :

1.6
. ®

4
7 %

2
3.¢

0.5
4 %

Question Number : 116 Question Id : 719650596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

The wavelength of a spectral line emitted by hydrogen atom i the Balmer series 1s

16
3R

(R 1s Rydberg constant). What 1s the value of the principal quantum number of

the state from which the transition takes place?

200 FAS rERS DO &G W Wl S00&L O By B dbso

16

R (R -Rydberg @U"ogo). ;{Jogﬁ’l)%o ol ;FCOO Cﬁl)gzr é@“r\'{) 5“50&)0 KJD&J% DN QDG@?
3 2

Options :

2

s

2
-8

Question Number : 117 Question Id : 719650597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The half-life of a radioactive sample 1s 5 seconds. If the mitial mass of the sample is

60 grams then the time required to reduce the sample to 7.5 grams 1s:

2.8 OGAIr o0 8 Sre(sample) @3 &0 o 5 V¥, Srerso Alwg) FPdead Ydsoes
60 [PSNL0 VOB, & FL¥o 7.5 PSVOLK Seoustrs ot Dad0o HEIERIEE

Options :
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15 secs

1 &

75 secs
2. ®

7.5 secs
3 %

10 secs
4 %

Question Number : 118 Question Id : 719650598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A Zener diode 1s connected to a battery and a load resistance as shown below:

508 WP Dol P 28 28”0 GOIre 20°gE00 0N Z°8 VG add SeDeGold.

4kQ A I

—VWWW\V y
I
N v I,
60V: ZS 10V=V; < R =2k
%
B

The currents I, Iz and I respectively are

5)@5@ é@%ﬁw I, Iz 206050 Ir e SG00re
Options :

10 mA. SmA. SmA

~

T
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ISmA, 7.5 mA. 7.5 mA

2.

12.5mA. 5SmA. 7.5 mA
3%

12.5mA. 7.5 mA, SmA
4. v

Question Number : 119 Question Id : 719650599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A semiconductor 1s doped with phosphorous atoms as impurity. The impurity levels

created 1n the semiconductor are close to the

w8 ©f PSS g0 (phosphorous) DSOS HOTLIT SehEbEsc(dope)
IPB). ©F 5SS BB SO Foww B SHSP Golron?

Options :

top of the valence band
QoCIPRE 6 2

bottom of the conduction band

ToEE S 08
2. =
bottom of the valence band
EETOVO LR ATRUN
3w
top of the conduction band
o8 S PO
4, % N

~

T
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Question Number : 120 Question Id : 719650600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A): Television signals are received through sky- wave propagation
Reason(R):  The 1ono sphere reflects electromagnetic waves of frequencies in the

range (3 -30) M Hz

080 (A): QG0N DoSTPen &5°d — B30t Q0o TPLT® (JAPPOW
w860 (R) @ 2 88880 (3 - 30) M Hz aegheS’ 80 adgloinr) ot S8errod
KJU“&Q@D 5@0{5.

The correct option among the following 1s
&1 So& DRYFOS HOGVSH
Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)

(A) 9350, (R) D938 SH0050 (A) § (R) 0O DSGes

1. ®
(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)
(A) dgad, (R) Dedgdn 890w (A) § (R) DOGDS DaGes oo
2. %
(A) 1s true but (R) 1s false
(A) He5550, 0 (R) 90950
3. %

(A) 1s false but (R) 1s true
(A) 0850, 20 (R) 0Sgasw

4 <

Chemistry
Section Id : 71965012
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Number of Questions to be attempted : 40
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Sub-Section Id : 71965012
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 719650601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements 1s not true about Thomson’s model of atom?

T3 DBSTED SSFTS Dotolowd §obd g 2l V2SN S

Options :

This model can be visualized as a pudding or watermelon of positive charge

with plum or seeds as electrons embedded mto it.

&8 JSPTED Yo O YISO ST, PAS FOO &), IGT LD

WOFFIDLT G305 YD
1%
The mass of the atom 1s assumed to be uniformly distributed over the atom.
DG (393078 HSaSTERR)) WoEr® Deol™ DodEs 220NV ZPDeuII Y
2. %
An atom possesses a spherical shape in which the positive charge 1s uniformly
distributed.
(TS0 085T76003)ES" EPadEaid Kool Doded 22000INeED
3. %
This model could not explain the overall neutrality of the atom.
&8 SearareS DOt AInE) B BevE0Es DS0002ESE
4.«

Question Number : 122 Question Id : 719650602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

Which of the following statements 1s not the result of cathode ray discharge tube

experiment with perforated anode?

DD DTG SO0 FEE S5m0 GBS T HATFHSNSH Dotodod &t §ob sz
O DO TPED

Options :

In the absence of electric or magnetic field, the cathode rays travel m straight line.

A3 T® O 0% Eo I, PEG STEPL wes S3°PotS” HASIPEoOD.

] *

In the presence of electric or magnetic field, the behaviour of cathode rays is

similar to that expected from negatively charged particles.
QgD T WOHTY oD EBo GI) VW), FEGE SCEPL DITPSSD, 2VEPH S e3d
EEPOB DelIPol P GolIIEN S0,

In the presence of electric and magnetic field. the cathode rays travel i straight

line.

03D S WOIRP) o EHINS, SPEFE STEFL 2008 o55°F0eS” HOLPEdoLOD
3.

The cathode rays start from the cathode and move toward the anode.

GG SEPL0 SEE Sols L00HLVBO IS'E T2 HOLTEoOD

Question Number : 123 Question Id : 719650603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The highest oxidation state observed in first row transition metal is

SWAWEN RTINSV INISECO RN P G AL SNl b S

Options :
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+6

. #
+7
2. ¢
+8
+9
4 R

Question Number : 124 Question Id : 719650604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Based on the quantum numbers. what will be the maximum number of elements for

sixth period of the periodic table?

5°R060a0 o3 TGP, @GS DEIE w88 HOODEE', thdE Doge” W) Sresen
=IIRINY

Options :

22
| ®

30
)’ &

32
3. v

34
4. =

Question Number : 125 Question Id : 719650605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Let’s assume the C'=C’ bond in acetylene is along z-axis. Find out the correct

combination of atomic orbitals with non-zero overlapping.

QOIS R C'=C" WoldSn Z-0%tS &) AP GRS, BErIgt it Ko

DS WOYETY EV0WE OGP EIXT $50.

Options :

2P, of C' and 2P, of C’

C' cwg 2P, S005n C* ol 2P,

| ®
2P, of C'and 2P, of C
C' g 2P, SHookn C*aiwgy 2P,
2=
2P, of C'and 2S of C*
C' cdwg) 2Py 50050 C*> s 2S
3. 8

2P, of C'and 2P, of C°

C' g, 2P, SHdokn C* i, 2P,

4.9

Question Number : 126 Question Id : 719650606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following molecules is not paramagnetic in nature?

&8 50l WEVHVS QS DTPONTY 0 DIETPS30 S,
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Options :

02
1. %
0;
7R
0,
3 R
e 1
02
4.«

Question Number : 127 Question Id : 719650607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the correct observation with respect to the given graphs

BWlenS PR DBP, &Y DOBLII oQos)eln.

1/V T

Options :

Ti>Trand P; = P>
T1 > T2 6050 P1 > P
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T >T and P1>P;
T2 > T 6030 P; > P

2.V

Ti=Trand P>, > P

Ty > T OGP > Py
3. %

T> > T and P> > Py

To > T 6050 P2 > Py
4, ®

Question Number : 128 Question Id : 719650608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A gas 1s present at a pressure of 2 atm. What should be the increase m pressure so that

ih
the volume of the gas can be decreased to 3 of the mtial volume at constant

temperature?

28 P50 2 ERYLD QQﬁJS&J NEIBD 3G &) B. TP VIDOSIEIBND, VO &TNS I8,

5" DOID0ST*EIES % So€8EL BRI, HESES” VBN 0JotS?

Options :

0.5 atm

0.5 ety O)Oﬁf:w

2 atm

2 &P Qo‘iﬁw
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4 atm

4 ety vyohoen

8 atm
8 ety Qcﬁoﬁw
4.

Question Number : 129 Question Id : 719650609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the law for which the following statement 1s true.
“Equal volume of all gases at same temperature and pressure should contain equal

number of molecules”.

WS AGD GO0 3G DS IDOSIEINNGL TPO5NHEN VP WEVHLD SO
OS00C". B8 PG §obd 3°EdeS 2B DOTP DSBS EST S5%.

Options :

Gay Lussac’s Law

QIBUSL RSV N
| ®
Avogadro’s Law
OSPE DPLSN
2.9
Law of multiple proportion
QPSPPSR0
3R
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Law of Conservation of mass

$5550°% D99 KPS

Question Number : 130 Question Id : 719650610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What 1s the equivalent weight of KMnO, n acidic medium?

(Molecular weight of KMnO, =158 g)

& OWrai%ets” KMnO,, Gl g aeEaind ooth?
(KMnO, eeaerdain = 158 g)

Options :

158 g
] %

52.7 ¢
7 ®

316 ¢
3.

395¢
4. %

Question Number : 131 Question Id : 719650611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What will be the AU value, when one mole of oxygen (O2) 1s going from —20 °C to
40 °C at constant volume?

(Molar heat capacity for oxygen = 20.8 J mol-' K-?)

@5 KDQE’JGQ‘SJ"UBQ 569 | D?ﬁuﬁ eﬁgbaﬂ(s (02) {%gfj@ 0 2 {630\:} 40 °C §O E:\ju@r\'j@d\) AU
DS 0)olH?
(29820 Srerd &X) Fodge = 20.8 I mol—' K-)

Options :

24961
1. %

20817

7 &8

416 ]
.=

1248 ]
4.9

Question Number : 132 Question Id : 719650612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Calculate the molar solubility of calctum hydroxide Ca(OH)> mn 0.10 M NaOH solution.

The ionic product of calcium hydroxide is 5.5 x 107°.

0.10 M NaOH grasesosS” S'90%0 @836 Ca(OH)» Srers Graseoiaedesy 4eass S5o%ossm.
OO0 FPE"3YE VOIS LS 5.5 x 107

Options :

11 x 10°°

gcollegedunias
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ik =

55 x 10"
3.9

5.5
4 %

Question Number : 133 Question Id : 719650613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the given 1onization constant values with the corresponding acids

Bad 320G DDV DT ESNOD T°E35 Do2uolods Gaddainwred” DOFLNSD.

A) HI @) 32%10°
B) HF Mm 35x10™
C) Hcl (I) 1.3 x 106
D) HBr (IV) 1.0 x10°

The correct match 1s
DOADS 23

Options :

IL. I ¥ I

~

T
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A B C D
IVv. Il I I

A B C D
n I II1 IV

Question Number : 134 Question Id : 719650614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

With reference to the redox properties of hydrogen peroxide (H»O,), which of these

reactions are feasible?
FEeS VoG (H202), &8y-20088e $o° 0 D0arP, §od SE30S" ) FPUgSD7?

(i)  2Fe* +2H" +H,0, — 2Fe” +2H,0
(i)  2MnOj + 6H + 5H,0, — 2Mn°> + 8H,0 + 50,
(iii) 2Fe’ + H,0, — 2Fe’™ + 20H"

(iv)  2MnO; + 3H,0, — 2MnO, + 2H,0 + 30, + 20H"

Options :
(1) and (11) only

(i) 0% (ii) g
| ®

(11) and (1v) only
(ii) 000k (iv) el

(i). (ii). (iii) and (iv)
(i). (ii). (iii) 06w (iv)
3. ¢

collegedunia:s
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(11), (11) and (1v) only

(i). (iii) £0OCK0 (iv) S

Question Number : 135 Question Id : 719650615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which halide of alkaline earth metal 1s covalent in nature and can be soluble in organic

solvent. such as ethanol?

DDAFRIOD DTSSR HO0N SIS TSINS BBS'GS” $Boh VeSS0 Ko
T OS50y S POE 0B?

Options :

StCh
| ®

CaCl»
7 #

BeCl,
3.¢

MeCl
4 %

Question Number : 136 Question Id : 719650616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An aqueous solution of borax 1s

2508 220 {3PeSeas0
Options :
Neutral
HEI0S30

1. ®

collegedunia:s
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Amphoteric
ARSI

3
*

Basic

2050

3. ¢

Acidic
e:sé;ém

Question Number : 137 Question Id : 719650617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following is/are primary component(s) of the synthesis gas?

800 Te3ES" 2B/l D0Beas0 (synthesis ) POX0a5) TRV, 29650 érESw Sae Hodoswew.

Options :

Carbon monoxide and Hydrogen

570 SPTPSYG 200080 PEaD
1. ¢
Nitrogen and Hydrogen
¢S 220 200050 3°% 220
2. %
Methane and Hydrogen
SVAISINVEOVWWEVIETAS
3. %
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Carbon monoxide

SNSRI

Question Number : 138 Question Id : 719650618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is air pollutant?

800 eI 26 TPOK0 FLVDS0?

Options :
Pesticides

DIV

:;h&'l.ﬁ

Phosphates
TV

Biphenyls

ZIDIJOD

L
®

Oxides of sulphur

D0 B Gew

Question Number : 139 Question Id : 719650619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Hybridizations of carbon-2 in P and Q are respectively.

P 50050 Q 065" °638-2 Do¥EE0 SEIIP

O HCN
CH— ¢ CH:—— C.H;NO
1 2 3 P
H,SO,4
Heat Hghs
pa O
C4HeO;
Q
Options :
P Q
Sp3 Sp2
1.¢
P Q
Sp? Sp~
2.8
P Q
S.p3 Sp
3 R
P Q
Sp* Sp’
4 %

Question Number : 140 Question Id : 719650620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A benzene derivative did not produce white precipitate with the ammonical silver
nitrate solution but decolorized the cold dilute alkaline KMnOy4 solution. The compound

1S

28 230250 G Y S0 BIPIEO L0 JEIE &5° VO BIEDS0D FSIIBEL 57 IV Ve
6 KMnOs GPaSeasionedd D880 SOS8. € Do0irt Haedasn

Options :

CgHs
1. ®

CsHio
2.8

CgHg
3.

C7Hs
4, ®

Question Number : 141 Question Id : 719650621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following can be used as the test for unsaturation with regard to color

change of reaction?

800 E3eS" 2B S X706 SOES” EPEinS @0t YHE0 DO SHATAISEIY
Options :

Addition of hydrogen
ESe 1 SROCPIVAY

~

T
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Addition of hydrogen bromide

°Ce 23 2 0300e o8R0
27 R
Addition of hypobromous acid
3PS 200 &) NoBLIIS0
3. %
Addition of bromine
29 S0 VoS0
4. v

Question Number : 142 Question Id : 719650622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a BCC lattice having the edge length of 200 pm, the cation has the radms of 70 pm.
. : s
The radius ratio of — 1s
P

(Given 2 =14, \3=1.7 and V6 =2.4)

28 BCC 2r0830S” @obdrdad) 200 pm, sP0PY g @i 70 pm. @OSr TPgPd
B r+
AN — E3T 5.
7 —

(B53206350:4/2 =14, Y3 =17 30050 /6 =2.4)

Options :

0.7
. ¥

|
2. %

04
3 %

gcollegeduniaa
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Question Number : 143 Question Id : 719650623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An aqueous solution of 98 % (w/w) H2SO4 has density of 1.02 g/cc. The Molality of

the solution 1s

98 % (w/w) HaSO4 230053PaSe3a30 ol 1.02 g/ec. 0P850 Als), S0erOEd

Options :

1.1
. &

0.7
R ]

2.1
3 R

15
4 %

Question Number : 144 Question Id : 719650624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

25 mL of 0.1 N NaOH solution neutralizes 12.5 mL of HCI solution. The amount of

water needed to convert 500 mL of such HCI solution to 0.1 N 1s

25 mL, 0.1 N NaOH graesain 12.5 mL HCl g*o‘éeaoixé.) émiﬁ%@&. LTAVNIA
500 mL HCl1 géa&ﬁm& 0.1 N e é?éobéasb TSV 230 DOSEIPEIEN doHSP

Options :
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.
500 mL
2.
50 mL
3w
55.5mL
4 &

Question Number : 145 Question Id : 719650625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The maximum work that can be obtained from the following cell 1s

X [X* (aq) || Y (aq)|Y
Given B
E°.. . .=08V

S06 DEISNES’ ErotiiONS (50RQ DR

X
(E°

X (20)]| Y (s0) Y
=—-1.7V

XX

E°. =08V)

Options :

579 kJ/mol

482 .5 kJ/mol
2
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289.5 kJ/mol

301.8 kJ/mol

Question Number : 146 Question Id : 719650626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The specific rate constant of decomposition of a compound 1s given by

12000

Ink=5.0- The activation energy of decomposition for this compound at

300K 1s

12000

& DoOIRS DTG DS DB S0°g POPeESD Ink =5.0- (F 55520600, 300 K
A 3¢ S NoGIPS HTPBK0 DS &Besess

Options :

24 kcal mol—1

1. ¢
12 kcal mol—1
7w
24 cal mol—!
3. 8
12 cal mol—1
4 %

Question Number : 147 Question Id : 719650627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of the following statements 1s correct for chemisorption?

800 TP5@ZOLS’ 01O SEPADS WEFREISNK Votobod OGS

Options :

Chemuisorption 1s reversible

EPONS OOT0E t &9 SeBADUISs (B35 563

I
Multilayer adsorption takes place
2TV O BT NE 2380500
7w
Adsorption increases with temperature
&I 003 NE HEXLD
3. ¢
The heat of adsorption is generally less than 40 kJ mol—"
QTN G50 FEeSesorP 40 kI mol—" $oe3 50y &
4. %

Question Number : 148 Question Id : 719650628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

~

T
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Match the following

S0l EIQ BBDOT Nl
Ores
(AR VN DY)
A) Calamine
SPORD
B) Chalcopyrites

C) Bauxite

VN

D) Haematite
2588

The correct match 1s

DOAS 23
Options :
A B &
II I IV
1. ¢
A B C
I III IV
2. %
A B A
111 I II

Composition
ROSORAINAGY
I) CuFeS;

IT) ZnCO;

]I[) Fe)Os

IV) Al2Os - 2H20

111

gcollegedunias
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Question Number : 149 Question Id : 719650629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The molecular formula of metaphosphoric acid 1s

GOETPP YOS ©630s500 AIE), e VoSBSW

Options :

H,PO,
| ®

HPO,
2. ¢

H,PO,
3. #

H,PO,

4. %

Question Number : 150 Question Id : 719650630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The final acid product obtamed during the synthesis of H,SO, by contact process 1s

H,S0, & 330°) DPS (Sobr§ HGA) GPg0° SoWrdy Dosndses’ adiy @odh &b
&9 )5y, S0

Options :
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H,SO, (conc.)

H,SO, (rre)
1. ®
H,SO, (dil.)
H,SO, (dz:w)
7w
H,S,0,
3. %
H.S,0,
4.«

Question Number : 151 Question Id : 719650631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Among the following series of transition metal 1ons, the one in which all the metal 10ns
have 3d°. 3p® electronic configuration is

(atomic number, T1 =22, V=23, Cr =24, Mn = 25)

80 HOSES Sre¥ wolrsw Fwos D6 3d2 3p8 JoPed durgdSste walrEdULS”
ErGdl.
(X836 Domg, Ti = 22, V =23, Cr =24, Mn = 25)

Options :
Ti3*, V2, C2* and Mn*
Ti¥, V& Cr* Ztohs Mot
1.
Tit. V¥, Cr® and Mn™
Ti*, V¥, Cr% 0050 Mn™
.

~

T
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4

Ti4+

.V, Cr?tand Mt
Ti**, V%, Cr?* 200050 Mot

Ti2*. V', Cr* and Mn®*
Ti2t, V3, Cr*t 00050 Mo

Question Number : 152 Question Id : 719650632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The correct match for complex with its magnetic behaviour in the following is

$0l PEIS” DOMP 2BOOWGES DoSRIN SHO0KN TP @AY 0 D eTP5ai0

Options :

2.¢

| CoFy

:Zn(OI—Il)ﬁ ~ . paramagnetic

| Zn(OH, )4 | ; HoPafode), oth

[Co(NH;),] : diamagnetic
[Co(NH, )| ; Cosmry ot
[C {)Fﬁ:a_ . diamagnetic

T oiry ot

[V(OH, ) * . diamagnetic

[V(OH,)s| ™ ; casrmry o

~

T
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Question Number : 153 Question Id : 719650633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the followmg are synthetic rubbers?
(1) Terylene (1) Buna—S (111) Buna—N
(v) Polyacrylonitrile

806 ToEIS” DD DotSEIE (5yB) BeoySew
(1) 69 (i) awrgoe—S (i11) awrgoe—N
(V) PO 39S

Options :
(1), (11) and (111)
(1), (11) 0008w (111)

| ®
(11), (1v) and (V)
(11). (1v) SO (V)
(11), (111) and (1v)
(11), (111) 0OCSW (1v)
3.
(1), (11) and (1v)
(1), (11) 0605w (1v)
4. %

(1v) Neoprene

(iv) QAP

Question Number : 154 Question Id : 719650634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

~

T
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Choose the correct zwitter 1onic form for aspartic acid

Y08 GPS0K DO 283808 (HFVERES) BOKPIE SRDHKN K0Qoss0?

Options :
COOH
ol
HsN-CH-COOH
. %
COQOH
® |_ ©
H:N-CH-COO
2.4
COOE)
ol o
H;N-CH-COO
3 %

©

|—COO

H,N-CH-CO 0@

Question Number : 155 Question Id : 719650635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Paracetamol 1s

POPVEISTO
Options :

Antiseptic drug
SWETAVNIIIATANGY

~

T
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Antipyretic drug

Qﬁ.‘f"olﬁgwg EALSTATNAY
2. ¢
Antihistamin drug
OVSAESSIIVINIATATARGY
3. %
Anfibiotic drug
OSotdeoairddS TS0
4. %

Question Number : 156 Question Id : 719650636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major products P and Q formed 1n the following reactions are respectively

800 SO50ES" BRE 93 Swew P and Q SBre

@ﬂ“@
anhyd. AlICl,
+ CH;CH,CH,Cl > P

(i) CH; CH, COCl . anhyd. AICl,

ea‘[g
O (ii) Zn (Hg) , HC1, A

Options :

~

T
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CH;
CH;
CH;
.o
P Q
CH, OH
CH;
CH;
2,

P Q

CH;
CH;
38

P Q

oH
: ~ ,CH; @/J\/CH;
4. %

Question Number : 157 Question Id : 719650637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The major product formed in the following reactions 1s:

EARWCII ) S N 9O Gy S
OH (1) NaOH
(ii) CO,
T >
(iii) H /H,0
(iv) CH;COCI, Pyridine
P %84S
(v) H
Options :
COH
t LOCOCH,
1. ¢
CO,CH;,
H
o,
CO,H
OCOCH,;
3. %N
CO,CH,
OH
4 %

Question Number : 158 Question Id : 719650638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

T
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Correct Marks : 1 Wrong Marks : 0

The major product formed in the following 1s

800 58" 28100 O &5 Ty S0

H=CHCH,CH,cN U A]H("B“))I
(i) H,0

Options :

H, CH, CH, CH, CH, NH,
| ®

H, CH, CH, CH; CH; OH
7 R

H=CH CH; CHz CHz NH;

3 %

H=CH CH; CH, CHO
4. &

Question Number : 159 Question Id : 719650639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

L ]
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What 1s the product R 1n the following reaction sequence?

800 50°g E500e5" B E€935) S0 R 06?
CHO

[y
conc. NaOH
> CgHyO + CgH;O;Na

A
P Q
CH,;
NaOH, CaO
> R
A
Options :
CH;
CH;
| ®
CH,
2.¢
OH
CH,
3.8

gcollegedunias
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OH

CH,

Question Number : 160 Question Id : 719650640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major product formed in the following reactions 1s

800 SBgee8" BN VWS GH YT S

CH,;
(i) Sn / HCl
(11) Br; (1 eq) (1#0e))
>
No, (iii) NaNO,, HCI
273-278K
(1v) Cu,Br, / HBr
Options :
CH;
Br BI‘
. ®
CH;
Br Br
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CH;

Br
Br
3. ¢
CH;
Br
Br
4. %

~

T
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